Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C320003 Date: 25/052016
Subject Name: Advanced Mathematics (Group-2)
Time: 10.30 AM TO 12:00 PM
Instructions:

1. Attempt ali questions.

2. Make suitable assumption wherever necessary.

3. Each question is of 1 mark.
4. Use of SIMPLE CAI.CULATOR is permissible. (Scientific/Higher Version not allowed)

5. English version is authentic,

Seat No.

Total Marks: 70

No. | Question Text and Option. U al [Ascul.
Equation of line having slop -1 and passing from the point (2,1) is
. A [x+y—-3=0 B. |[x—y+3=0
C. |[x—y—3=0 D. [x+y+3=0
(elg(2,1) didll v acdl wa -1 810 aoll 2we) alls:w 8.
T [A [x+y-3=0 B. [x—y+3=0
C. |[x—y—3=0 D. [ x+y+3=0
Two lines having slopes my and ma respectively are perpendicular if
2 A |m-m,=1 B. |m;y-m,=-1
C. |m;y=m, D [m=m,+1
ol ol Rl 3 Bl oL BeisA m, UA m, & «l
? A mp-m,=1 B. |lmymy;=-1
C. [my=m, D |m=m,+1
If two lines 5x + 2y — 3 = 0 and kx 4+ 2y + 7 = O are parallel if k=
5 [A ]2 B. [-7
IlE D. |-3
Al A 5x+2y—3=0alkx+2y+7 =0 % AR &l& Al k =
3. [A |2 B. [-7
C. |5 D. |-3
Equation of a circle having centre (1,2) and radius 3 is
4. |A | (x+1)?+(@y+2)2=3 B. (x—1)2+(y—2)2—3
C. |[(x+1D?*+(y+2)?=9 D. |[(x—1D?+(y—2)2=9
$on (1,2) Wol Blraul 3 alal ddne) uHls\ .
oA [ G+1)2+(y+2)2=3 B. |(x—12+(y—2)=3
C. |[(x+1D?*+(y+2)?=9 D. |[(x—1D?+(y—2)2=9
Distance between two points (4,3) and (1,2) is .
5. |A V12 B. |11
C. |v1o D. |15
[lgall (4,3) ol (1,2) Ao} BiclR= L.
WoolA V12 B. |11
C. V10 D. |15
If midpoint joining two points A(2,1) and B(4,5) is M(3,x) then x =
6. |A |2 B. |3
C. |4 D. |5
¢ (g2l A(2,1) Aol B(4,5) L %lscll ulvise] Heallolg &lal M(3,x) cl x =
' [2 [B. [3
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C. |4 ID. |5

X-intercept of the line 2x + 4y — 6 = 0 is

7. [A. ]2 B. |4
C. |-6 D. [3
Rl 2x + 4y — 6 = 0 oll X culs L2l
9. TA |2 B. |4
C. |-6 D. |3
Equation of normal to the circle is x* + y? — 4x + 2y + 3 = 0 at point (1,-2)
is = .
8 A |x—y—-3=0 B. |[x+y—3=0
C. |[x—y+3=0 D. | None of above
ddo x2 + y2 — 4x 4 2y + 3 = 0 oll (Blg(1.-2) WLl wlelclole] Als0L
. 8.
A |[x—y—-3=0 B. |[x+y—-3=0
C. |x—y+3=0 D | i of As wel il
I d{(x,0),(0,5)}=25then x = .
9. [A ]0O B. [+1
C. |+2 D. |+
ol d{(x0),(0,5)}=258aclx=
c. (A |0 B. [£1
C. [+2 D. [+3
IfA(2,-7)and B (8,3 ) then midpoint of line segment AB is =
10 A TG, B. [(5,2)
C. [(5,2) D. [(10,—4)
ol A(2,-7) el B(8,3) &lal cl WAuis AB oll HraAltlgoll M = a2l
10. A [(5,-2) B. [(5,-2)
C. [(5,2) D. |1(10,-4)
If A(3,5)and B (2, -4) then slope of AB is
A |9 B.
11. 5 5
C. |5 D. 5
9
Bl A(3,5)uA B(2, 4) 8 dAB ol |0 L,
A |9 B. 9
9. z -z
C. |5 D. 5
9 9
If line making angle 45° with positive X-axis then slope
A |0 B. |1
12.
C. [v3 D. | 1
V3
ol 2ull X-tatell tot [Ra A 45° el olottd cl @16 WL,
2. |A. [0 B. |1
C. |v3 D. | L
V3
Equation of the line passing through two point A (2, 3)and B(7,5)is 11
13. [A. [2x+5y+11=0 B. [2x 5y+11=0
C. [2x+5y_11=0 D. [2x—5y_11=0
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A(2 3)Bua(7,5) digl vy adl 2uuq wlls:w BT
. [A [2x+5y+11=0 B. [2x-5y+11=0
C. |2x+5y—-11=0 D. |2x-5y—11=0
Centre of thecirclex? +y2=41s )
14. [A. [(0,0) B. [(0,2)
C. [(2,0) D. 1(2,2)
Aol x2 + 32 = 4 of Fosk UL
V. A T(0,0) B. [(0,2)
C. [(2,0) D. [(2,2)
Radius of the circle x’ + y* —2x +4y—1=0 s
15. |A. |6 B. |6
C. |2 D. |7
dda 2 +y?—2x+4y—1=0 ol Blwau a2l .
. [A [6 B. |g
C. |2 D. |47
I f(x):sian,thenf(%)z .
A |1 B. 1
16. 2 V2
C. [v3 D. [0
2
%ﬁf(x)=sin2x,cﬂf(§)= .
A |1 B. 1
9s. 2 \/E
C. |v3 D. |0
2
If f(x)= (1) x,then f (2)= .
17. [A. ]2 B. [-2
C. |1 D. |-1
A f(x)= (-1 x,dl f(2)= .
3. TA. ]2 B. [2
C. |1 D. |-1
H f(x)=x+1and g(x)=x%—1, then fog(x)=
18. |A. |x2—-1 B. [x%?+1
C. | x2 D. | None of above
ol f(x)=x+1Udgx)=x2—1, cdl fog(x)=
1. A [x2-1 B. [x2+1
C. |x2 D. |3yl of As yel ot
lim(1+ 2" =
n-—sw n
19. A |1 B. |e
C. |1 D. | None of above
e
lim (1+ 2" =
¢, A |1 B. |e
¢ |1 D2l of As wgl @
limsgg—n8 =
20. 630 8
A |1 |B. |-1
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| D. | None of above
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27. a5 B. |e5
C. |0 D |1
: X
lim (1 +§) _
X — 00
. A 5 B. |e°
C. |0 D. |1
lim 2%¥n
n-—oo n?
28. A 0 B. |2
C. |1 D. |N
lim 2¥=n
n— oo n?
RC- A To B. |2
C. |1 D. [N
4 _
- (cosec x) =
29 A sec x - taﬂ X B COsec x - COt X
C. | —cosecx-cotx D. |cot’x
d
= (cosec x) =
RC. | A. |secx-tanx B. | cosecx-cotx
C. | —cosecx-cotx D. |cot’x
da . 1 1,y _
= (sin" " x +cos™'x) =
30, |A- |1 B. [0
C. |-1 D. 2
_ V1 — x2
a1 “1,.y _
- (sin" " x +cos™ 'x) =
30. A |1 B. 0
C. |-1 D. 2
V1 — x2
L on_
dx
3. TA. J2¢ B. |2*1
C. | 2%log,2 D. | 2*logye
L
dx —
39. | A | 2% B. |21
C. | 2*log,2 D. | 2*log, e
da 3%y —
— (e7) =
32. [A [e3% B. |3e3*
C. |e3*+3 D. |3e*
da 3%y —
— (e7) =
32. [A. [ &3 B. |3e%*
C. |e3*+3 D. |3e*
% log (sin x) =
33. TA. Jcosecx B. |tanx
C. |cotx D. |-cotx
% log (sinx) =
33. | A [cosecx B. |tanx
C. |cotx D. |-cotx
34, % cos Zx=
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A | 2sinx-cosx B. |sin2x
C. | -sin2x D. |sin’x
d 2
— cos “x =
dx
3¥%. | A |2sinx-cosx B. |sin2x
C. |-sin2x D. |sin’x
Tf f(x)=2" then 7 (0) = .
35. |A |2 B. |log,?2
C. |2 D. |log,e
B f(x)=2" dl f1(0)=
3. TA [ B. |log,2
C. |2 D. |log,e
If y = cosec’x - cot? x then % = :
36. [A 1 B. [2
C. [0 D. | None of above
%l y = cosec’x - cot? x cﬂ% = :
36. |A. |1 B. |2
C. 10 Do of A5 wel ol
Maximum value of function f(x)=sin x is
37. |A |0 B. 1
C. | -1 D. |10
@82 F(x)=sinx oll HedAH B L.
39. A To B. 1
C -1 D. |10
% (3x% +sinx +2) =
38. A [3x%—cosx B. |6x+cosx
C. | 6x? + cosx D. | 6x —cosx
% (3x? +sinx + 2) =
3¢. | A | 3x2—cosx B. |6x+cosx
C. | 6x% 4 cosx D. |6x —cosx
If % (cos™1x) =
A. 1 B. 1
39. 1— x2 x2—1
C. -1 D. -1
1—x2 x2—1
o8l % (cos™'x) =
A. 1 B. 1
3¢. 1—x? x?2—1
C. —1 D. -1
1— x2 x2—1
Ify=1log?2 then %:
40. |A. |1 B. |0
C. (1 D. |X
2
of| y =log 2, dl %:
¥0. |A. |1 B. |0
C 1 D |X
2 3
41. | If y=x2then 2=

dx
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Al | 3Vx B. | —3vx
2 2
C. 3 D. | -3
2x 24x
3
‘iﬁy=x5,tn %:
A, | 3% B. | -3vx
¥q. —_—
2 2
C. 3 D. | -3
2x 24x
fy=xsinxthen %:

42. TA. [cosx B. XC0S X —Sinx
C. |xcosx+sinx D. | xsinx —cosx
°ﬁy=xsinx,cﬂ Z—Z:

¥R. [ A COS X B. XC0S X —Sinx
C. |xcosx +sinx D. | xsinx —cosx
If f(x) =logVvx?+ 1then f'(0)=__ . )

43. |A. |0 B. 1
C. |2 D. |-1
o f(x) =logVaZ+1 dlf'(0)= .

¥3. [A o B. |1
C. |2 D. |-1
[sinxdx =

44, | A. |cosx+c B. —cosx+c
C. |cosecx+c D. secx+c¢
[sinxdx =

¥¥. | A. |cosx+c B. —COosx+cC
C. |cosecx+c D. secx+c¢
ftan?xdx = +C.

45, | A. |secxdx B. |secx-tanx
C. |tanx—x D. |x—tanx
ftan?xdx = +C.

¥U. [ A [secxdx B. |secx-tanx
C. |tanx—x D |x—tanx
[secxdx = +C.

X X
46, | |log|tanz] B. | log|cot7|
C. r,x D. r,x
log | tan (2+2)| log|tan(4_+2)|
[secxdx = +C.
X X
¥s. | | log|tanZ| B. |log|cot7]
C. r,x D. r,x
log | tan (2+2)| log|tan(4_+2)|
[sin*x-cosxdx = +C.
. 5 a5
47, A. | sin°x B. 5sin® x
5
C. |4sind3x D. |costx-sinx
[sin*x-cosxdx = +C.
. 5 5

¥ A. sn; X B. 5sin” x
C. |4sindx D. |cos*x-sinx

48. | [xe*dx = +C.
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A |e B. | xe
C. |(x+1)e* D [ (x—1)e*
[xe* dx = +C.

¥C. | A | e* B. | xe*

C. |[x+1e* D. [(x—1)e*
1 4
fo 1+X2 ax =

49. | A. T B. 21

C. |T D. |
ar 2
fo 1+X2 dx =

¥e. | A o1 B. 21
C. |T D. |T

- 4 2
fx2—1 dx = +C.
A. 1£ x—1 B. |sinlx

50. 2 4 |x +1
C. | —sin7x D. ll x+1

279 1
fle_l dx = +C.
A |1 x—1 B. |sin7x
4o. Elog |x +1
C. | —sin"'x D. |1 x+1
=log
2 x—1
fol 4x3 dx =

SLOTA Jo B. |1
C. |2 D. |3
fol 4x3 dx =

4. (A0 B. |1
C. |2 D. |3
fZi_z_i dx = +C.

52. [A. log(e* — e™*) B. |[log(e* +e7*)
C. | —log(e* —e™) D. | —log(e* + e™*)
JEs ax = +C.

UR. A, log(e* — e ™) B. |log(e* +e™™)
C. | —log(e* —e™™) D. | —log(e* + e™*)
[(3x% —3)dx = +C.

53. |A. | 6x B. |3x*—x
C. |x?—3x D. |3x®—3x
[(3x% —3)dx = +C.

W3. |A. |6x B. [3x%—x
C. |x?—3x D. |3x®—3x
[sin(2x—7)dx = +C.

54 A | —cos(2x —7) B. | —cos(2x)

" C | —cos(2x—7) D. | —cos(2x —7)
2 7
[sin(2x —7)dx = +C.

Wy A. | —cos(2x —7) B. | —cos(2x)

" |C. | —cos(2x —7) D. | —cos(2x —7)
_ 2 7
55. | [Zcosx dx=
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A |0 B. |—sinx+¢c¢
C. |1 D. |[sinx+¢
JZcosx dx=
W. "A To B. |—sinx+c¢
C. |1 D. |[sinx+c¢
[(sin?x + cos?x) dx =
56. |A. |0 B. 1
C. [sin2x+¢ D |[x+¢
[(sin?x + cos?x) dx =
ys, (AL |0 B. 1
C. |sin2x+¢c¢ D |x+c
Area of region bounded bycurve y = x,x —axisandx =1,x = 2is = unit .
A |3 B. 3
57. - -
4 2
C. |3 D |1
As y=1x x— U x=13elx =2 o3 JRAAGA Yt U] AdsO __ UL
w9, | A E B. E
4 2
C. |3 D |1
1 1
Je*(F—5) dx =
58 |A | eF B. | €%
X x2
C xe* D (x — 1)e*
1 1
Jer(F—5) dx =
e, | A f B. i
X x2
C. |xe* D. | (x —1)e*
Forthe data 5,4, 6, 18, 12 meanis 9thena= _
59. |A. |5 B. |4
C. |6 D. |18
HBE Aol uacllsell 5, a, 6, 18, 12 HIZ Heals 9 8lal dla=
we. A Js B. [4
C. |6 D. |18
For information data 8, 3, 5, 12,9, 14, 17, 1. 7 median of informationis __ .
60. |A. |9 B. |8
C. |85 D. | None of above
ol HE{loll AU acllsell 8,3,5,12,9, 14,17, 1,7 8lal dl HeaARYU__
SO. |A. |9 B. 8
C. |85 D |yl of As wel ol
For information mean is 1.43 and median is 1.32 then mode is ___.
61. A |1 B. 1.1
C. |12 D. (09
ofl HEcloll Heas 1.43 Ul Heal 132 Sl dl Uges__.
s1. [A T1 B. |11
C. |12 D. (09
For information 5, 7, 10, 13, 12, 6, 17 mean deviation from mean is
62. |A. |4 B. 34
C. |3 D. | None of above
5. | %l HElell Heals 5,7, 10, 13, 12, 6, 17 lal l Heatsell uz2ee QAAA .

9/11




B. |34

A |4
C. |3

Do 2l of As we ol

If given datais 8,7,4,5,6,9,7,3, 8 and 7 then Mode is
63. |A. |5 B. |7
C. |8 D. |9
Udcllsel 8,7,4,5,6,9,7,3,8 Al 7 oll lgets___ B,
$3. [A. [5 B. |7
C. |8 D. |9
For the observations -5,5,-2,8,-8.,6,0.-1 and -10, median =
64. |A. [0 B. |1
C. |2 D. |-1
UAASe -5,5,-2,8,-8,6,0,-1 WL -10 oll He2RU = 8.
s¥. [A. [0 B. [1
C. |2 D. |-1
The median of the ordered observations 4,6,x,y,10 and 18 is 8. Then their meanis ___
65. |A. ]9 B. |8
C. [10 D. |6
ALl sHHL olsdAl weacllsoll 4,6,x,y,10 ol 18 oll He2ARYU § B, dl dHell
gy, |HEAS =__ L
A |9 B. [8
C. |10 D. |6
The mean deviation from the median for the observations 1,6,9,3.8,4 1s
66. |A. [25 B. [3.0
C. |35 D. |28
Uccllsell 1,6,9,3,8,4 of Heaadl AR Queet e
55. [A. 25 B. [3.0
C. |35 D. |28
The variance of the observations 3,4,5 and 8 is
67. |A. [45 B. [35
C. |285 D. |1.87
Udclsell 34,5 wal 8 of [AuzeL 8.
$3. [A. [45 B. [35
C. |285 D. |1.87
For 12 observations ¥, x; = 102 and Y, x; 2 = 1542. Then the standard deviation of
68 the observations is .
" [A 3833 B. [7.50
C. |56.25 D. | 1134
12 Uclcllsell 2 ¥ x; =102 Wol Y x; 2 = 1542 &l ol A uaclsells]
g | U@l Queet sl
A. [3833 B. [7.50
C. [56.25 D. |11.34
The range of the data 17, 15, 25, 34,32 is
69. [A. [18 B. |19
C. |34 D. |17
wcellsell 17, 15, 25, 34, 32 oll [Qrdl? a2l
s¢. [A 18 B. [19
C. |34 D. |17
70 For the data 15, 12, 14, a, 6, 18, 10 median is 11 then a =

A |14

|B. |11
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C. |6 |D. |0

HIBAloll 1 acllsell 15,12, 14, a, 6, 18, 10 oll He2Ae 11 8l2L dla= .

90. [A. [14 B. [11
C. |6 D. |0
EEEEEEEEE E EE T
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